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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes cach sentence.
Then mark the answer on your auswer sheet.

1- It had not rained on the prairie for several months. Because of the drought, the climate
had become very ---------- =
1) unsteady 2) rigid 3) intense 4) arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew ---------- in the front vard.
1) unchecked 2) unjustified 3) complicated 4) scanty

3- Can you please --——-—---—- this last part of the lesson for me; I’m not sure I understood.
1) recapitulate 2) identity 3) postulate 4) recount

4-  Gerry’s dissatisfaction with our work was --—--——-- in his expression, although he never
criticized us dircetly,
1) vulncrable 2) bright 3) implicit 4) humble

5 The world’s coal, oil and gas -----—---- arc finite; once day they will run out, so think now
about what you can do to consume less,
1) appliances 2) deposils 3) rclics 4) amcnitics

6-  You arc recommended o use mnemonies to help you ----om-oo- important items of
information.
1) cnumcraie 2) cxpose 3) recall 4) withdraw

7-  The lifcspan of a mayfly is ---------- » lasting from a few hours to a couple of days.
1) imprecise 2) ephemeral 3) superlicial 4) swill

8-  His words to the press were deliberately -----------—-; he didn’t deny the reports but
n¢ither did he confirm them,
1) mutual 2) cssential 3) dogmalic 4) cquivocal

%-  Hundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to -———---- the building
immediately.
1) expel 2) cvacuale 3) disperse 4) detach

13- Computers have helped solve some of the mathematical --—-----—- which have puzzled

man for many centuries.
1) conundrums 2) caprices 3) artilacts 4) chronologics
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or {(4).
Then mark it on your answer sheet.

PASSAGE I:

Tillage is the agriculiural preparation ol soil by mechanical agitation ol various Lypes,
such as digging, stirring, and overturning. Primary tillage is usually conducted afier
the last harvest, when the soil is wet enough to allow plowing but also allows good
traction. Some soil types can be plowed dry. The objective of primary tillage is to
attain a reasonable depth of soft soil. incorporate crop residues, kill weeds, and to
aerate the soil. Secondary tillage is any subsequent tillage. in order to incorporate
fertilizers and reduce the scil to a finer tilth, level the surface. Reduced tillage leaves
between 15 and 30% crop residue cover on the soil or 560 to 1100 kg/ha of small grain
residue during the critical erosion period. 'This may involve the use of a chisel plow.
field cultivators. or other implements. Intensive tillage leaves less than 13% crop
residue cover or less than 560 keg/ha of small grain residue.

This tvpe of tillage is also referred to as conventional tillage, but as conservational
tillage is now more widely uscd than intensive tillage in the US, it is oficn not
appropriate to reler to this type ol tllage as conventional. Intensive illage olien
involves multiple operations with implements such as a mold board, disk. and/or chiscl
plow. Aficr this, a finisher with a harrow, rolling basket, and cutter can be used 10
prepare the seed bed. Conservation tillage leaves at least 30% of crop residue on the
soil surface, or at least 1.100 kg/ha of small grain residue on the surface during the
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17-

18-

19-

20-

critical soil crosion period. This slows water movement, which reduces the amount of
soil crosion,

The passage points to the fact that intensive tillage -—--------—-.

1) may involve the use of a chisel plow and field cultivators

2) is not used as often as conversational tillage in the US

3) leaves twice more crop residue than other tillage tyvpes

4} does not involve use of mold boards or chisel plows

All of the following about primary tillage are correct except that it is done to --—-------—-—-- G

1) kill weeds 2) agrate the soil

3) incorporate crop residues 4} incorporate tertilizers

The passage mentions that conservation tillage deals with seil crosion through ----—--—-—,
1) amount ol small grain residuc 2) stopping walcr movement

3) muliiple tillage opcerations 4y levelling soil surlace

It is stated in the passage that —-—-——--,

1) chisel plows arc primarily used in primary tillage

2) the best soil traction is achieved in intensive tillage

3) seed beds are prepared following conventional tillage
4) tillage can be done during and after the harvest season

The word ‘“tilth’ in the passage (underlined) is best related to the ------------- of soil.
[) ‘combination’ 2) “depth’ 3) “surtace’ 4) ‘layers’
PASSAGE 2:

Crop rolation is the practice ol growing a serics ol digssimilar or dillerent types of crops
in the same area in sequenced seasons. Many crops which are critical tor the market, like
vegetables. are row crops (that is. grown in tight rows). While often the most protitable
for furmers, these crops are more laxing on the soil. Row crops ypically have low
biomass and shallow roots: this means the plant contributes low residue to the
surrounding soil and has Timited cffects on structure, With much of the soil around the
plant exposed to disruption by rainfall and tratfic, fields with row crops experience
faster break down of organic matter by microbes. leaving fewer nutrients for future
plants. In short, while these crops may be prolitable for the larm, they are nutricnt
depleting. A great advantage of crop rotation comes from the interrelationship of
nitrogen-lixing crops with nitrogen-demanding crops.

Legumes, like alfalfa and clover, collect available nitrogen from the soil in nodules
on their root structure. When the plant is harvesied, the biomass ol uncollected roots
breaks down, making the stored nitrogen available to future crops. Legumes are also a
valued green manure: a crop that collects nutrients and fixes them at soil depths
accessible (o [uture crops. Cereal and grasses are [requent cover crops because ol the
many advantages they supply to soil quality and structure. 'The dense and far-reaching
root systems give ample structure 1o surrounding soil and provide significant biomass
for soil organic matter. Green manure is a crop that is mixed into the soil. Both nitrogen-
fixing legumes and nutrient gcavengers, like grasses, can be used as green manure.
Green munure of legumes 1s an execllent source ol nitrogen, especially lor organic
systems, however. legume biomass doesn't contribute to lasting scil organic matter like
grasses do.
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All of the following about row crops are correct according to the passage except that they

.

1) leave little residue to the surrounding soil
2) produce soil-depleting nutrients

3) break down soil’s organic matter

4) have low biomass and shallow roots

The structure of the surrounding soil is best developed through -,
I} “long-life vegetables’ 2) deep-rooted legumes’
3) "grasses and cereals’ 4) *green manure crops”’

The passage points to the fact that as far as preservation of soil organic matter is concerned
1) grasses are more effective than legume biomass

23 we should plant little nitrogen-demanding crops

3) legume roots can be transferred to new soils

4) planting alfalfa is both cheap and convenient

Which of the following is not correct, according to the passage?

1) Row crops are grown in rows very close to each other.

2) Green manures release nutrients as they grow.,

3) Vegetables consume a lot of soil nutrient.

4) Cereals’ roots go deep down into soil.

The word *scavenger’ in the passage (underlined) is best related to ——---—-—-—— .
1) *produce’ 2) “collect” 3) “spread” 4) “stabilize’
PASSAGE 3:

Phosphorus and nitrogen fertilizers when commonly used have major environmental
eftects. This is due to high rainfalls causing the fertilizers to be washed into
walcrways, Agricultural run-ofl is a major contributor (o the cutrophication ol [resh
waler bodics. For example, in the US, aboul hall’ ol all the lakes arce cutrophic. The
main contributor to cutrophication is phosphate. which is normally a limiting nutrient;
high concentrations promote the growth of cvanobacteria and algac, the demise of
which consumes oxygen. Cyanobacteria blooms (‘algal blooms') can also produce
harmful toxins that can accumulate in the tood chain, and can be harmful to humans.
Only a fraction of the nitrogen-based fertilizers is converted to plant matter.

'I'he remainder accumulates in the soil or is lost as run-off. High application rates of
nitrogen-containing fertilizers combined with the high water solubility of nitrate leads
to increased runoff into surface water as well as leaching into groundwater, thereby
causing groundwater pollution. The excessive use of nitrogen-containing fertilizers (be
they synthetic or natural} is particularly damaging. as much of the nitrogen that is not
taken up by plants is transformed into nitrate which is easily leached.

Nitrate levels above 10 mg/l. (10 ppm) in groundwater can cause 'blue baby
syndrome’. Attention has been addressed 1o the decrcasing concentrations ol clements
such as iron, zine, copper and magnesiwm in many [oods over the last 30-60 ycars.
Inicnsive [arming practices. including the use ol synthetic [ertilizers arce [requently
suggesied as rcasons for these declines and organic [arming is olicn suggested as a
solution, Although improved crop yiclds resulting rom NPK fertilizers are known 1o
dilute the concentrations of other nutrients in plants, much of the measured decline can
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be attributed to the use of progressively higher-viglding crops which produce oods

with lower mineral congentrations than their less productive ancestors.,

We understand from the passage that nitrogen-containing fertilizers ------------- @
1) the blue baby syndrome if digested accidentally
2) leach into ground mostly through the food chain
3) are transformed into nitrate almost immediately
4) can pollute groundwater even if they are natural
The passage points to the fact that as a result of eutrophication --------—----- :
1) cvanobacteria and algae grow faster
2) algal blooms invade entire territories
3) lertilizers arc washed inlo walcrways
4) mincrals spread in large bodics ol land
It is stated in the passage that synthetic fertilizers ——-—--——-- 4
1) arc a part ol intensive larming practices
2) have appeared over the last 5060 years
3) dissolve casily in soil’s small particles
4) should be used at less than 10 ppm levels
The word ‘their’ in the passage (underlined) refers to ---------—-- "
1) “mineral concentrations’ 2) ‘nutrients in plants’
3) “higher-yielding crops’ 4) *NPK fertilizers®
The word ‘dilute’ in the passage (underlined) is closest to -——---——-—-——- :
1) ‘raise’ 2) "damage’ 3) ‘remove’ 4) “‘weaken’
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